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1) _______ known as Garden city in India.
A) Chandigad B) Bangalore
C) Shimla D) Pune
.............. ho ^maVmVrb CX²̀ mZ eha åhUyZ AmoiIbo OmVo.
A) M§S>rJS> B) ~|Jbmoa
C) {e_bm D) nwUo

2) Where is the National Ocean Research Center?
A) Mumbai B) Kolkata
C) Vasco-de-gama D) Chennai
amḯ>r` gmJa g§emoYZ H|$Ð H$moR>o Amho?
A) _w§~B© B) H$mobH$Îmm
C) dmñH$mo-X-Jm_m D) MoÞB©

3) The velocity of the wind is measured by _______.
A) Barograph B) Wind vane
C) Cup-Anemometer D) Aneroid Barometer
dmè`mÀ`m doJmMo _mnZ .............. Ûmao hmoVo.
A) dm ẁ̂ maboIH$ B) dm ẁ{X½Xe©H$
C) dm ẁdoJ_mnH$ D) {ZÐ©d dm ŵ̀ ma _mnH$
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4) Which instrument is used to measure the salinity of ocean water?
A) Salinometer B) Thermometer
C) Hygrometer D) None of these
gmJaObmMr jmaVm _moOÊ`mgmR>r H$moUVo CnH$aU dmnaVmV?
A) g°brZmo_rQ>a B) W_m}_rQ>a
C) hm`J«mo_rQ>a D) `mn¡H$s Zmhr

5) Oceanography is a branch of _______.
A) Human Geography B) Geology
C) Physical Geography D) None of these
gmJaemó hr H$moUË`m {df`mMr emIm Amho?
A) _mZdr ŷJmob B) ŷJ ©̂emñÌ
C) àmH¥${VH$ ŷJmob D) `mn¡H$s Zmhr

6) What is the neutral pH value of the soil?
A) Four B) Seven
C) Nine D) Ten
_¥XoMm gd©gmYmaU VQ>ñW gm_y {H$Vr AgVmo?
A) Mma B) gmV
C) ZD$ D) Xhm

7) What color does the soil get when the salts in the soil come up?
A) Black B) White
C) Red D) Yellow
O{_ZrVrb jma daAmë`mda _¥Xobm H$moUVm a§J àmá hmoVmo?
A) H$mim B) nm§T>am
C) Vm§~S>m D) {ndim

8) Which of the following types of soils have a marked capacity to retain water?
A) Desert soil B) Laterite soil
C) Regur soil D) Red soil
Imbrbn¡H$s H$moUË`m àH$maÀ`m _mVrV nmUr gmR>{dÊ`mMr bjUr` j_Vm Amho?
A) dmid§Q>r _¥Xm B) Om§̂ r _¥Xm
C) aoJwa _¥Xm D) bmb _¥Xm

9) Which of the following soil is related to the term Regur?
A) Laterite Soil B) Red Soil
C) Black Cotton Soil D) Deltaic Alluvial Soil
Imbrbn¡H$s H$moUVr _mVr aoJwa `m eãXmer g§~§{YV Amho?
A) Om§̂ r _¥Xm B) bmb _¥Xm
C) H$mù`m H$mngmMr _¥Xm D) {Ì ŵO àXoemVrb JmimMr _¥Xm
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10) _______ current is flowing near the South Africa Coast.
A) Gulf B) Brazilian
C) Canary D) Benguila

X{jU Am{\«$Ho$À`m {H$ZmanÅ>rOdi ................. àdmh dmhVmo.
A) Jë\$ B) ~«m{P{b¶Z
C) H°$Zar D) ~§o½dobm

11) Average salinity of ocean is _______.
A) 32 B) 33
C) 34 D) 35

gd©gmYmaUnUo gmJamMr jmaVm Xa hOmar ................... AgVo.
A) 32 B) 33
C) 34 D) 35

12) _______ wrote the first book of the oceanography.
A) Ptolemy B) James Ross
C) James Renal D) Charles Darwin

.................. `m§Zr gmJaemóm{df`r n{hbo nwñVH$ {bhrbo.
A) Q>m°bo_r B) Ooåg am°g
C) Ooåg aoZb D) Mmëg© S>m{d©Z

13) _______ is the main urban problem in India.
A) Over Population B) Vertical Growth of city
C) Pollution D) All of above

.............. ho ^maVmVrb à_wI ehar g_ñ`m Amho.
A) dmT>Vr bmoH$g§»`m B) ehamMm CÜd©Jm_r hmoUmam {dH$mg
C) àXþfU D) darb gd©

14) Where in Maharashtra is the largest solar power plant located?
A) Radhanagari B) Sangola
C) Valhvan D) Andheri

_hmamḯ>mVrb H$moUË`m {R>H$mUr _moR>o gm¡a D$Om© {Z{_©Vr H|$Ð Amho?
A) amYmZJar B) gm§Jmobm
C) dbìhU D) A§Yoar
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15) Regur (Black) type soil is suitable for which crop?
A) Rice B) Jawari
C) Cottons D) Tea
aoJwa (H$mir) àH$maMr _¥Xm H$moUË`m {nH$m§gmR>r `mo½` Amho?
A) Vm§Xÿi B) Ádmar
C) H$mnyg D) Mhm

16) Sundarbans forests are found in which region?
A) Desert Region B) Mountain Region
C) Delta Region D) Plateau Region
g§wXa~Z O§Jbo H$moUË`m àXoemV AmT>iVmV?
A) dmid§Q>r àXoe B) nd©Vr¶ àXoe
C) {Ì ŵO àXoe D) nR>mar àXoe

17) Which plateau covers most of the state of Maharashtra?
A) Telangana Plateau B) Malwa Plateau
C) Chota Nagpur D) Deccan Plateau
_hmamḯ> amÁ`mMm gdm©{YH$ ^mJ H$moUË`m nR>mamZo ì`mnbm Amho?
A) Vob§JU nR>ma B) _midm nR>ma
C) N>moQ>m ZmJnya D) X»IZMo nR>ma

18) Where river Godavari originate?
A) Mahabaleshwar B) Tryambakeshwar
C) Gangotri D) Matheran
JmoXmdar ZXrMm CJ_ H$moR>o Pmbm Amho?
A) _hm~ioída B) Í §̀~Ho$ída
C) J§JmoÌr D) _mWoamZ

19) _______ is known as planned city in India.
A) Jaipur B) Gandhinagar
C) Bhuvaneshwar D) Chandigad
............. ho ^maVmVrb {Z`mo{OV eha åhUyZ AmoiIbo OmVo.
A) O`nya B) Jm§YrZJa
C) ŵdZoída D) M§S>rJS>



ENT - 15

-5-

20) Multistory building in big cities is an indication of _______ growth.
A) Horizontal B) Vertical
C) Equal D) None of these
_moR>çm eham§_Ü ò _ëQ>rñQ>moarO {~pëS>̈J ho ............... dmT>rMo g§Ho$V AmhoV.
A) j¡{VO B) CÜd©Jm_r
C) g_mZ D) `mn¡H$s H$mhrhr Zmhr

21) The concentric zone theory of urban land use was postulated by E. W. Burgess
in _______.
A) 1924 B) 1923
C) 1925 D) 1919
ehar O{_ZrÀ`m dmnamÀ`m H|$ÐrV joÌmMm {gÕm§V B©. S>ãë ỳ. ~J}g `m§Zr ................. gmbr _m§S>br.
A) 1924 B) 1923
C) 1925 D) 1919

22) According to Walter Christaller, trade area of cities are _______ in shape.
A) Square B) Rectangular
C) Hexagonal D) Circular
dm°ëQ>a {H«$ñQ>ba `m§À`m _Vo ì`mnma joÌmMm AmH$ma .............. AgVmo.
A) Mm¡H$moZmH¥$Vr B) Am`mVmH¥$Vr
C) fQ>H$moZr D) dVw©imH$ma

23) A Hypothesis must be _______.
A) Diffuse B) Specific
C) Slow D) Speedy
J¥hrVHo$ ............... Agbr nm{hOoV.
A) EH$X_ {dñV¥V B) Zo_H$s
C) _§X D) J{Verb

24) CBD stands on _______.
A) Common Business District B) Central Business District
C) Urban Fringe D) None of these
gr.~r.S>r. åhUOo
A) gmd©O{ZH$ ì`mnma joÌ B) _Ü`dVu ì`mnma joÌ
C) ZJa n[agr_m D) `mn¡H$s Zmhr
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25) _______ are important criteria of classifying towns.
A) Goods B) Functions
C) Resources D) None of these
................ ho eham§Mo dJuH$aU H$aÊ`mMo _hÎdmMo {ZH$f AmhoV.
A) dñVy B) H$m`©
C) g§gmYZo D) `mn¡H$s H$mhrhr Zmhr

26) The increase in the proportion of a country living in towns and cities is called
_______.
A) Growth B) Urbanization
C) Polarization D) None of these
ehao Am{U eham§_Ü ò amhUmè`m bmoH$m§À`m à_mUmV dmT> hmoÊ`mbmM ............. åhUVmV.
A) dmT> B) eharH$aU
C) Y«wdrH$aU D) `mn¡H$s H$mhrhr Zmhr

27) Questionnaire is filled by _______.
A) Respondent B) Everybody
C) Enumerator D) No body
àíZmdbr ............ ho ^aVmV.
A) _m{hVr XoUmam B) gJio
C) JUH$ D) H$moUrhr Zmhr

28) Survey is a _______ Study.
A) Descriptive B) Fact finding
C) Analytical D) Systematic
gd}jU åhUOo ........... Aä`mg.
A) dU©ZmË_H$ B) VÏ` emoYUo
C) {díbofUmË_H$ D) nÕVera

29) Select the largest scale from the following.
A) 1:50,000 B) 1:25,000
C) 1:1,00,000 D) 1:10,00,000
Imbrb _YyZ ~¥hX à_mUmMr {ZdS> H$am.
A) 1:50,000 B) 1:25,000
C) 1:1,00,000 D) 1:10,00,000
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30) Which of the following statements about Pangaea is not true?
A) It had Laurasia in the northern part and Gondwana land in the southern part.
B) It was a big landmass consisting of continents.
C) It had shallow sea known as Tethys Sea.
D) It was surrounded by the Pacific Ocean.
Imbrbn¡H$s n°Or`m ~m~V H$moUVo {dYmZ gË` Zmhr?
A) CÎma ^mJmV bm°ao{e`m Am{U X{jU ^mJmV Jm|S>dmZm ŷI§S> hmoVr.
B) hm EH$ _moR>m ŷ̂ mJ hmoVm Á`m_Ü ò I§S>m§Mm g_mdoe hmoVm.
C) Ë`mV CWi g_wÐ hmoVm Omo Q>o{Wg g_wÐ åhUyZ AmoiIbm OmVmo.
D) ho àem§V _hmgmJamZo doT>bobo hmoVo.

31) Which of the following is nature of Agriculture Geography?
A) Political B) Economical
C) Historical D) Descriptive
Imbrbn¡H$s H$moUVo H¥$fr ŷJmobmMo ñdê$n Amho?
A) amOH$s` B) Am{W©H$
C) B{Vhm{gH$ D) dU©ZmË_H$

32) Agriculture Geography is a sub-branch of which geography?
A) Political Geography B) Physical Geography
C) Human Geography D) Social Geography
H¥$fr ŷJmob hr H$moUË`m ŷJmobemómMr CnemIm Amho?
A) amOH$s` ŷJmob B) àmH¥${VH$ ŷJmob
C) _mZdr ŷJmob D) gm_m{OH$ ŷJmob

33) Which is the following important branch of Human Geography?
A) Geomorphology B) Climatology
C) Economic Geography D) None of above
nwT>rb n¡H$s H$moUVr _mZdr ŷJmobmMr _hËdmMr emIm Amho?
A) ŷê$n emó B) hdm_mZ emó
C) Am{W©H$ ŷJmob D) darbn¡H$s Zmhr

34) Who has put forth Demographic Transition Theory?
A) Notestine B) Taylor
C) Miss Sample D) Ratzel
bmoH$g§»`m g§H«$_U {gÕm§V H$moUr _m§S>bm?
A) ZmoQ>oñQ>rZ B) Q>oba
C) {_g gånb D) a°Q>Pob
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35) The place where an earthquake is formed and from which the seismic waves
spread everywhere in the earth is called _______.
A) Earthquake B) Earthquake epicenter
C) Earthquake outercenter D) Epicenter
OoWo ŷH§$nmMr {Z{_©Vr hmoVo d OoWyZ ŷH§$n bhar ŷH$dMmV gd©Ì ngaVmV Ë`mbm ............. åhUVmV.
A) ^yH§$n B) ŷH§$n eramoH|$Ð
C) ŷH§$n ~møH|$Ð D) ŷH§$n H|$Ð

36) Which is the continent having highest population?
A) Australia B) Africa
C) America D) Asia
H$moUË`m I§S>mV gdm©V OmñV bmoH$g§»`m Amho?
A) Am°ñQ́>o{b`m B) Am{\«$H$m
C) A_o[aH$m D) Am{e`m

37) Who is the father of modern Human Geography?
A) Mackinder B) Huntingtan
C) Ratzel D) Wegnar
AmYw{ZH$ ŷJmobmMm OZH$ åhUyZ H$moUmbm AmoiIVmV?
A) _°{H$§S>oa B) h§Q>tJQ>Z
C) aoQ>Pob D) doJZa

38) Which of the following type of rainfall is found on the equator?
A) Convectional B) Orographic
C) Cyclonic D) None of these
Imbrbn¡H$s H$moUË`m àH$maMo nO©Ý¶ {dfwd¥Îmmda AmT>iVo?
A) Amamoh B) à{VamoY
C) Amd©V D) `mn¡H$s Zmhr

39) _______ winds are known as Westerlies.
A) Anti-trade B) Trade
C) Polar D) Monsoon
............ dmè`m§Zm npíM_r dmao åhUyZ AmoiIVmV.
A) àVrì`mnmar B) ì`mnmar
C) Y«wdr` D) _mÝgyZ
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40) Which local wind blows from land to sea?
A) Sea breeze B) Land breeze
C) Mountain breeze D) Valley breeze
O{_Zrdê$Z g_wÐmH$S>o dmhUmao ñWm{ZH$ dmao H$moUVo?
A) Imao dmao B) _VbB© dmao
C) S>m|Jar dmao D) Xar dmao

41) Which of the following main crop is related to extensive grain farming?
A) Tea B) Sugarcane
C) Jute D) Wheat
Imbrbn¡H$s H$moUVo à_wI {dñV¥V YmÝ` eoVr nrH$ Amho?
A) Mhm B) D$g
C) VmJ D) Jhÿ

42) Which kind of farming practiced in mountain slopes?
A) Intensive B) Mixed
C) Commercial D) Erraced
nd©V CVmam§da H$moUË`m àH$maMr eoVr hmoVo?
A) gImob B) {_l
C) ì`mnmar D) nm`è`m nm`è`mMr

43) Which research institute has set up a large number of wind power plants in
India?
A) Reliance Energy B) Tata Energy
C) Bharat Petroleum D) Hindusthan Petroleum
^maVmV H$moUË`m [agM© g§ñWo_m\©$V ‘moR>çm à_mUmV ndZ COm© {Z{_©Vr H|o$Ðo ñWmnZ Ho$br AmhoV?
A) [abm`Ýg EZOu B) Q>mQ>m EZOu
C) ^maV noQ́>mo{b`_ D) qhXþñWmZ noQ́>mo{b`_

44) In which river bank the Mathura religious centre is located?
A) Ganga B) Sindhu
C) Yamuna D) Brahmaputra
_Wwam ho Ym{_©H$ {R>H$mU H$moUË`m ZXrÀ`m H$mR>mda dgbo Amho?
A) J§Jm B) qgYw
C) `_wZm D) ~«÷nwÌm

45) Which is highest peak in India?
A) Mount Everest B) K2
C) Kanchenjunga D) Makalu
^maVmVrb gdm©V C§M {eIa H$moUVo?
A) _mC§Q> EìhaoñQ> B) Ho$-2
C) H$m§MZO§Jm D) _H$mby
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46) The term Geography was first used by the Greek philosopher _______
Geography.
A) Eratothenes B) Tolemi
C) Homer D) Carl Retter
"Geography" hr g§km gd©àW_ J«rH$ VËdoÎmm ............. `m§Zr dmnabm.
A) BaoQ>moWo{Zg B) Q>m°bo_r
C) hmo_a D) H$mb© [aQ>a

47) Which is the oldest fold mountain in India?
A) Aravali B) Vindhya
C) Satpuda D) Nilgiri
^maVmVrb gdm©V àmMrZ dbrnd©V H$moUVm Amho?
A) Aadbr B) {d§Ü`m
C) gmVnwS>m D) {Zb{Jar

48) Which of the following is an example of primary data?
A) Book B) Journal
C) Newspaper D) Questionnaire
Imbrbn¡H$s H$moUVo àmW{_H$ _m{hVr òmoVmMo CXmhaU Amho?
A) nwñVH$ B) Oa²Zb
C) dV©_mZnÌ D) àíZmdbr

49) The method by which a sample is chosen _______.
A) Unit B) Design
C) Random D) Census
Imbrbn¡H$s H$moUVr g§emoYZ _m{hVr Jmoim H$aÊ`mgmR>r Z_wZm nÕV Amho?
A) ỳ{ZQ> B) {S>OmB©Z
C) `mÑpÀN>H$ D) OZJUZm

50) Which of the following agriculture problem having physical?
A) Technology B) Finance
C) Drought D) Seeds
Imbrbn¡H$s H$moUVr H¥$fr g_ñ`m hr àmH¥${VH$ Amho?
A) V§ÌkmZ B) ^m§S>db
C) Adf©U D) ~r-{~`mUo

51) Which region has the largest agricultural area in the world?
A) Mountainous B) Plain
C) Plateau D) Desert
OJm_Yrb gdm©V OmñV H¥$fr joÌ H$moUË`m àXoem_Ü ò Amho?
A) nd©V B) _¡XmZo
C) nR>ma D) dmid§Q>
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52) Agriculture is most favourable in _______ region.
A) Desert B) Plain
C) Mountain D) Rocky
............. àXoe eoVrg gdm©V AZwHy$b Amho.
A) dmid§Q>r B) _¡XmZr
C) nd©Vr` D) IS>H$mi

53) Cephalic Index is used for _______.
A) Eyes Colour B) Size of head
C) Height of Man D) Skin colour
go\$m{bH$ Xe©H$ ............. gmR>r dmnabm OmVmo.
A) S>moù`mMm a§J B) S>moŠ`mMm AmH$ma
C) _mUgmMr C§Mr D) ËdMoMm a§J

54) Thomas Robert Malthas is from _______ Country.
A) Russia B) America
C) England D) Germany
Wm°_g am°~Q>© _mëWg ho ............. XoemMo hmoVo.
A) a{e`m B) A_o[aH$m
C) B§½b§S> D) O_©Zr

55) _______ cause most for the migration of women.
A) Service B) Marriage
C) Education D) None of these
{ó`m§Mo ñWbm§Va .................. H$maUm_wio gdm©V OmñV hmoVo.
A) ZmoH$ar B) {ddmh
C) {ejU D) `mn¡H$s Zmhr

56) Where was started first cotton textile mill in India?
A) Ahmedabad B) Kanpur
C) Mumbai D) Ichalkaranji
^maVmVrb n{hbr gwVr H$mnS> {JaUr H$moR>o gwê$ Pmbr?
A) Ah_Xm~mX B) H$mZnya
C) _w§~B© D) BMbH$a§Or

57) Who postulated the concept of Geographical Cycle of Erosion?
A) A.Wegener B) J. Hutton
C) W. Panck D) W. M. Davis
^m¡Jmo{bH$ jaU MH«$ g§H$ënZm H$moUr _m§S>br?
A) E. doJZa B) Oo. hQ>Z
C) S>ãë ỳ. n|H$ D) S>ãë ỳ. E_. S>oìhrg
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58) Where is the headquarter of eastern railway zone?
A) Kolkata B) Hyderabad
C) Chennai D) Visakhapatnam
nyd© aoëdoMo _w»`mb` H$moR>o Amho?
A) H$mobH$Îmm B) h¡Xam~mX
C) MoÞB© D) {demImnÅ>U_

59) Where in first Swadeshi steel plant established in India?
A) Jamshedpur B) Bhilai
C) Bokaro D) Ranchi
^maVr` ñdXoer n{hbm bmoh nmobmX H$maImZm H$moR>o gwê$ Pmbm?
A) O_eoXnya B) {^bmB©
C) ~moH$mamo D) am§Mr

60) _______ Scientist has done the classification of Human Race.
A) Darwin B) Griffith Taylor
C) Davis D) Rener
_mZdr d§emMo dJuH$aU .................. `m emókmZr Ho$bo.
A) S>m{d©Z B) {J«{\$W Q>oba
C) S>o{dg D) aoZa

61) _______ is not the branch of Human Geography.
A) Social Geography B) Economic Geography
C) Geomorphology D) Political Geography
............... hr _mZdr ŷJmobmMr emIm Zmhr.
A) gm_m{OH$ ŷJmob B) Am{W©H$ ŷJmob
C) ŷê$nemó D) amOH$s` ŷJmob

62) Which is the highest peak in the Eastern Ghat?
A) Anai Mudi B) Mahendragiri
C) Kanchenjunga D) Khasi
nyd© KmQ>mVrb gdm©V C§M {eIa H$moUVo Amho?
A) AZmB© _wS>r B) _h|Ð{Jar
C) H$m§MZO§Jm D) Imgr

63) Which is the major food grain of Indian people?
A) Maize B) Rice
C) Jawari D) Bajara
^maVr` bmoH$m§Mo à_wI ImX²̀ mÞ H$moUVo Amho?
A) _H$m B) Vm§Xÿi
C) Ádmar D) ~mOar
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64) How many countries are the members of "BRICS"?
A) Three B) Five
C) Seven D) Nine
"{~«Šg' `m g§KQ>ZoMo {H$Vr Xoe g^mgX AmhoV?
A) VrZ B) nmM
C) gmV D) ZD$

65) Which one of the following represents a remote sensing platform?
A) Areal camera B) Scanner
C) Parachute D) RADAR
Imbrbn¡H$s H$emMm gwXÿa g§doXZmV "AmgZ' åhUyZ dmna Ho$bm OmVmo?
A) hdmB© H°$_oam B) ñH°$Za
C) n°amewQ> D) aS>ma

66) The value in an arrayed series which divides the series into two equal parts is
_______.
A) Mean B) Median
C) Quartile D) Mode
MT>Ë`m H«$_mZo _m§S>boë`m MbmMr XmoZ g_mZ ^mJmV {d^mJUr H$aUmar g§»`m åhUOo ................
A) _Ü`_mZ B) _Ü`Jm
C) MWwV©H$ D) ~hþbH$

67) The brain of any computer system is _______.
A) ALU B) CPU
C) Control Unit D) Memory
H$moUË`mhr g§JUH$ àUmbrMm hm ............... _|Xÿ AgVmo.
A) ALU B) CPU
C) Control Unit D) Memory

68) Which of the following factor affecting on the delta growth?
A) Velocity of the stream B) Ocean Currents
C) Nature of sea waves D) All of the above
{Ì ŵO àXoemÀ`m dmT>rda H$moUVm KQ>H$ n[aUm_ H$aVmo?
A) àdmhmMm doJ B) g_wÐ àdmh
C) g_wÐ bmQ>m§Mo ñdê$n D) darb gd©
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69) Which of the following is type of micro computer?
A) Desktop B) Notebook
C) Tablet D) All of above
Imbrbn¡H$s H$moUVm _m`H«$mo g§JUH$mMm àH$ma Amho?
A) S>oñH$Q>m°n B) ZmoQ>~wH$
C) Q>°~boQ> D) darb gd©

70) GPS stands for _______.
A) Geographical Positioning System B) Global Positioning System
C) Ground Positioning System D) Global Positioning Services
Or. nr. Eg. åhUOo H$m`?
A) ^m¡Jmo{bH$ ñWmZ{ZpíMVr àUmbr B) d¡pídH$ ñWmZ{ZpíMVr àUmbr
C) ŷñWmZ{ZpíMVr àUmbr D) d¡pídH$ ñWmZ{ZpíMVr godm

71) Minimum _______ satellites are necessary for activation of GPS?
A) 2 B) 3
C) 4 D) 5
Or. nr. Eg. ̀ §ÌUm H$m`m©Ýd`rV hmoÊ`mgmR>r H$_rVH$_r ..................... CnJ«hm§Mr Amdí`H$Vm AgVo.
A) 2 B) 3
C) 4 D) 5

72) GIS deals with _______ data of following.
A) Numeric Data B) Binary Data
C) Complex Data D) Spatial Data
Or. Am`. Eg. ho .................. àH$maÀ`m _m{hVrer g§~§{YV Amho.
A) gm§p»¶H$s _m{hVr B) Xþhoar (~m`Zar) _m{hVr
C) OQ>rb _m{hVr D) AdH$mer` _m{hVr

73) Which one of the following represents a remote sensing sensor?
A) Aircraft B) Scanner
C) Parachute D) Satellite
Imbrbn¡H$s H$emMm gwXÿa g§doXZmV "g§doXH$' åhUyZ dmna Ho$bm OmVmo?
A) {d_mZ B) ñH°$Za
C) n°ameyQ> D) H¥${Ì_ CnJ«h
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74) _______ Graph shows distribution of water and land on map.
A) Flow Diagram B) Multiple Line Graph
C) Hypsographic Curve D) Band Graph
O_rZ d nmUr `m§Mo {dVaU XmIdÊ`mgmR>r H$moUVm AmboI H$mT>VmV?
A) dmVnwîn B) ~hþaofmboI
C) joÌmoÞVr AmboI D) nÅ>r AmboI

75) The average weather conditions in given place over a longer period of time is
called _______.
A) Season B) Weather
C) Atmosphere D) Climate
EImXçm {R>H$mUÀ`m XrK©H$m{bZ hdoÀ`m gamgar pñWVrg H$m` åhUVmV?
A) G$Vw B) hdm
C) dmVmdaU D) hdm_mZ

76) Which factor has the largest effect on oceanic water temperature?
A) Latitude B) Winds
C) Icebergs D) Seasons
gmJaObmÀ`m Vmn_mZmda gdm©V OmñV H$moUË`m KQ>H$mMm n[aUm_ hmoVmo?
A) Ajm§e B) dmao
C) {h_ZJ D) G$Vw

77) Oceanic Uzz is formed due to deposition of _______.
A) Vegetation B) Fish
C) Organism D) Volcanic Ash
............... g_wÐVimda V`ma hmoUmam {d{eð> àH$maMm Jmi (D$O) Imbrbn¡H$s H$í`mZo V`ma hmoVmo?
A) dZñnVr B) _mgo
C) OrdO§Vy D) Ádmbm_wIr amI

78) Which ocean current flows between the east coast of Africa and Madagascar?
A) Madagascar Current B) Mozambique Current
C) Curried Current D) Brazilian Current
Am{\«$Ho$Mr nyd© {H$ZmanÅ>r d _mXmJmñH$a ~oQ> Xaå`mZ H$moUVm gmJar àdmh dmhVmo?
A) _mXmJmñH$a àdmh B) _moPm§{~H$ àdmh
C) Š ẁamBS> àdmh D) ~«mPrbr`Z àdmh
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79) Which of the following is the hazardous effect of earthquakes?
A) Fires B) Flash floods
C) Tsunamis D) All of the above
Imbrbn¡H$s ŷH§$nmMm H$moUVm n[aUm_ AmnÎmrOZH$ Amho?
A) AmJ B) _hmnya
C) gwZm_r D) darb gd©

80) Which of the following is studied in soil geography?
A) Work of river B) Climate
C) Agricultural commerce D) Soil formation and properties
_¥Xm ŷJmobemómV Imbrbn¡H$s H$emMm Aä`mg Ho$bm OmVmo?
A) ZÚm§Mo H$m ©̀ B) hdm_mZ
C) H¥$fr ì`mnma D) _¥XoMr {Z{_©Vr Am{U JwUY_©

81) Soil Geography is a subbranch of which Geography?
A) Economic Geography B) Physical Geography
C) Social Geography D) Political Geography
_¥Xm ŷJmob hr H$moUË`m ŷJmobMr CnemIm Amho?
A) Am{W©H$ ŷJmob B) àmH¥${VH$ ŷJmob
C) gm_m{OH$ ŷJmob D) amOH$s` ŷJmob

82) Salinity of Ocean is measured in _______ unit.
A) Percentage B) Dyne
C) Percentile/Miles D) Millibar
gmJaObmMr jmaVm ................. _Ü ò _moObr OmVo.
A) eoH$S>m B) S>mB©Z
C) XahOmar D) {_br~ma

83) Dead Sea is near the _______ Country.
A) Peru B) France
C) Jordan D) Argentina
_¥V g_wÐ .................. XoemOdi Amho.
A) noê$ B) \«$mÝg
C) Om°S>©Z D) AO]{Q>Zm

84) _______ is the world's largest fishing ground.
A) Grand bank B) Dogger bank
C) North East Atlantic D) None of these
.............. ho OJmVrb gdm©V _moR>o _ËgjoÌ Amho.
A) J«±S> ~±H$ B) S>m°Ja ~±H$
C) B©emÝ` AQ>bm§{Q>H$$ D) `mn¡H$s Zmhr
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85) What is the name of International airport at Ahmedabad?
A) Narendra Modi B) Keshubhai Patel
C) Sardar Vallabhbhai Patel D) Mahatma Gandhi
Ah_Xm~mX òWrb Am§Vaamḯ>r` {d_mZVimMo Zmd H$m` Amho?
A) Za|Ð _moXr B) Ho$eŵ mB© nQ>ob
C) gaXma d„^^mB© nQ>ob D) _hmË_m Jm§Yr

86) How many million kilowatts of solar energy is produced annually in India?
A) 130 B) 140
C) 150 D) 160
^maVmV Xa dfu gd©gmYmaU {H$Vr Xebj {H$bmod°Q> gm¡a CO}Mo CËnmXZ Ho$bo OmVo?
A) 130 B) 140
C) 150 D) 160

87) Where are the mineral oil reserves in the state of Assam?
A) Moran B) Digboai
C) Nunmati D) Nahrkatiya
Amgm_ amÁ`mV I{ZO Vob gmR>o H$moR>o AmhoV?
A) _moamZ B) {X½~moB©
C) ZwZ_Vr D) ZhaH${Q>`m

88) When does monsoon arrive in India?
A) Early June B) Early July
C) Early August D) Early September
^maVmV _mÝgyZMo AmJ_Z H$Yr hmoVo?
A) OyZ À`m gwadmVrbm B) Oyb¡ À`m gwadmVrbm
C) Am°JñQ> À`m gwadmVrbm D) gßQ>|~a À`m gwadmVrbm

89) Which is the longest National Highway in India?
A) Pune - Chennai B) Dhule - Kolkata
C) New Delhi - Kolkata D) Varanasi - Kanyakumari
^maVmVrb gdm©{YH$ bm§~rMm _hm_mJ© H$moUVm Amho?
A) nwUo - MoÞB© B) Ywio - H$mobH$Îmm
C) Zdr {X„r - H$mobH$Îmm D) dmamUgr - H$Ý`mHw$_mar

90) In which one of the following regions the chemical weathering process is
more dominant than the mechanical process?
A) Desert Region B) Limestone region
C) Arid region D) Glacier region
Imbrbn¡H$s H$moUË`m àXoemV amgm`{ZH$ {dVaU à{H«$`m `m§{ÌH$ {dVaU à{H«$¶onojm A{YH$ à^mdr AgVo?
A) dmid§Q>r àXoe B) MwZIS>r àXoe
C) H$moaS>o àXoe D) {h_ZXr àXoe
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91) Concentric Zone theory is given by _______.
A) Davis B) Karl Riter
C) Darwin D) Barges
g_H|$Ðr` H${Q>~§Y {gÕ§mV `m emókmZo _m§S>bm.
A) S>oìhrg B) H$mb© [aQ>a
C) S>m{d©Z D) ~J}g

92) _______ is a military city.
A) Kolhapur B) Ambala
C) Solapur D) Raibareli
.............. ho bîH$ar eha åhUyZ AmoiIbo OmVo.
A) H$moëhmnya B) A§~mbm
C) gmobmnya D) am`~aobr

93) Panhala is known as _______ city.
A) Administrative city B) Historical city
C) Commercial city D) Educational city
nÝhmim ho ............ eha åhUyZ AmoiIbo OmVo.
A) àemgH$s¶ eha B) Eo{Vhm{gH$ eha
C) ì`mnmar eha D) e¡j{UH$ eha

94) Which one of the following is not a method of showing relief on a map?
A) Contours B) Layer colouring
C) Hachures D) Isohyets
ZH$memda CR>md Xe©{dÊ`mMr Imbrbn¡H$s H$moUVr nÕVr Zmhr?
A) g_moƒ aofm B) a§J nÕVr
C) CR>md aofm D) g‘nO©Ý¶ aofm

95) According to Indian census the population of urban center is _______.
A) 4000 B) 6000
C) 5000 D) 7000
^maVr` OZJUZoZwgma ehar H|$ÐmMr bmoH$g§»`m ........... BVH$s AgVo.
A) 4000 B) 6000
C) 5000 D) 7000

96) Which Indian Topographical maps cover an area of 4° × 4° latitudes and
longitudes?
A) Town guide maps B) Quarter degree sheets
C) Million maps D) Half degree sheets
H$moUVo ^maVr` ñWb{ZX}eH$ ZH$meo 4° × 4° Ajd¥Îmr` d aoImd¥Îmr` {dñVma ì`mnVmV?
A) ZJa Xe©H$ ZH$meo B) nmd {S>J«r erQ>
C) Xebjr ZH$meo D) AY© {S>J«r erQ>
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97) Instead of relative humidity as in Climograph, Hythergraph shows _______.
A) Absolute Humidity B) Average monthly rainfall
C) Specific Humidity D) Annual sunshine
Šbm`_mo½am\$ _Ü ò gmnoj AmÐ©Vm Xe©{dVmV Ë`m EodOr h¡XaJ«m\$ _Ü ò ............ Xe©{dVmV.
A) {Zanoj AmÐ©Vm B) gamgar _m{gH$ nO©Ý`
C) {d{eï> AmÐ©Vm D) dm{f©H$ gỳ ©àH$me

98) Which one of the following method is suitable to show 'The Land Utilization
of India'?
A) Dot method B) Line graph
C) Divided Circle D) Star diagram
^maVmMo ŷ{_ Cn`moOZ Xe©{dÊ`mgmR>r Imbrbn¡H$s H$moUVr nÕV Cn ẁº$ R>aob?
A) qQ>~ nÕVr B) aofm AmboI
C) {d^m{OV dV©wi D) VmamH¥$Vr

99) Which of the following is 'Two-dimensional diagram'?
A) Divided Circle B) Bar graph
C) Line graph D) None of these
Imbrbn¡H$s H$moUVr {Û{‘Vr¶ AmH¥$Vr Amho?
A) {d^m{OV dV©wi B) ñV§̂ mboI
C) aofmboI D) `mn¡H$s Zmhr

100) Which colour is used to show non-perennial streams in S.O.I. Toposheet?
A) Red B) Black
C) Blue D) Green
^maVr` ñWb{ZX}eH$ ZH$memV h§Jm_r Obàdmh Xe©{dÊ`mgmR>r H$moUË`m a§JmMm Cn`moJ hmoVmo?
A) bmb B) H$mim
C) {Zim D) {hadm


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Rough Work / a’$ H$m`©a’$ H$m`©a’$ H$m`©a’$ H$m`©a’$ H$m`©


